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QUESTION 1

ADDRESS_DATA in Caram client pages can be presented in a localized format.

ADDRESS_DATA in Caram client pages can be presented in a localized format. Where is the format data
stored?

A. curam-config.xml and CDEJResources.properties

B. curam-config.xml, CDEJResources.properties and Application.prx

C. curam-config.xml and curam.css

D. curam-config.xml only

E. CDEJResources.properties only

Correct Answer: A

QUESTION 2

Which of the following are valid subdirectories of a server component directory?
A. model

B. codetable

C. database

D. EJBserver

E. message

Correct Answer:. ABE

QUESTION 3

Which of the following are valid targets for the server-side build command?
A. generated

B. beandoc

C. database

D. messages

E. codetables

Correct Answer: AC
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QUESTION 4

Examine the following UIM code:

<?xml wersion="1.0" encoding="UTF-§8"7:>

<PAGE PAGE ID="Pers onDemo_modifyPe_ts on'
xmlnz:xsi="hkttp:  Swww. Wi, org/ 2001 AL chema—ins tance”
®x3ai:noNamespaceldchemalocation="file: // Curam/TIMS chema, xad ™

<PAGE TITLE>
“CONNECT=
<30URCE NAME="TEXT™ PRCPERTY="PagsTitle, Title"/>
</ COMNECT=
</PAGE TITLE:

-::PJ_I}E_PARP_HETER NAME="concernRcleIDParam™/ -

<CONNEC T
<S0URCE PROPERTY="goncernRcleIDNParam™ NAME="PASE™/ >

<TLRGET PROPERTY="keviconcernkEolseID" NALME="ReadPersonBeaan"/ >
S f CONNEC T

<SEREVEE INTERFACE OPERATICON="readPerson" CLAGI= "MzintainPerson™
NAHE="LeadPersonfean™ PHASE="DISPLAY"/ >

<3ERVER TNTERFLCE OPERATION="mcdifyPerson" CLAZS="MaintainPsrson"
NANE="ModifyPersonBesn™ PHASE="ACTION™/ =

<CLUSTER TITLE="Cluster.Title.lfersonletails">

+/CLUSTER>

Which of the following statements are true?
A. The Page Title is read from a properties file.
B. The modifyPersonBean is invoked when the page loads.

C. A CONNECT element at the page level is used to pass a page parameter into a display phase
SERVER_INTERFACE.

D. The UIM page is called PersonDemo_modifyPersonPage.uim.
E. The cluster value Cluster.Title.PersonDetalils is read from a SERVER_INTERFACE.

Correct Answer: AC

QUESTION 5

The Curam page shown here is configured to allow the developer to identify which action control was selected when the
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user clicks either button.

Confirmation i e

Are you sure? -

Which of the following pieces of UIM could be used to do this?
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A

<?xml wersion="1.0" encoding="UTF-8"72>

<PAGE PAGE ID="DersonDemo agres"
xmlns:xsi="http: Awvww. wi. opg 2001 A XMLE chema—-1instance”
¥31:noMamespacedchemalocation="Ff1le: //Curam/ TIMS chema. xsd™>

<PAGE TITLE>
< CONNECT>
<30URCE NAME="TEXT'" PROFERTY="PageTitle.StaticText" >
</ CONNECT>
<HPAGE_TITLE>

<SERVER INTERFALCE OPERATION="checkdgreement" CLASS="MaintzinPerson"

NAME="CheckAgreementBean"” PHASE="ACTION™ ACTION ID PROPERTV="selection"/>

<CLUSTER TITLE="Cluster.Title.Agreement ">
CACTICN SET TOP="false” LLIGNMENT="CENTER'">
CACTION CONTROL LABEL="ActionControl.Label.Yes"
TYPE="SUBMIT" RCTICN ID="selection"/»
SACTION CONTROL LABEL="ActionControl.Label.No"
TYFE="SUBMIT" ARCTICN ID="selection"/»
CACTION CONTROL LABEL="ActionControl.Label.No"
TYPE="SUBMIT" ACTION ID="selection"/»
</ACTION JET>
</ CLUSTER>

</PLGE>
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B
L3xml wersion="i1.0" encoding="UTrF-8"7>
<PAGE PAGE ID="PersonDemo agres”
xmlns:xsi="kttp: Awww. wi. orgd 2001 /XML chema—1instance™
¥Zi:noNamespacedchemalocation="file: / Curam/ TIMS chema. xad -
<PAGE TITLE>
<CONMNECT:=
<30URCE NAME="TEXT'™ FPROFERTY="FageTitle.StaticText"/ >
</ CONNECT >
<fPAGE_TITLE>
<3SERVER INTERFACE OPERATION="checkAgreement" CLAZ3="MaintainPerson"
NAME="CheckAgreamentBean" PHAZE="ACTION™ ACTION_ID_PROPERTY="selection"f>
SCLUSTER TITLE="Cluster.Title.Agreement™
<ACTION SET TOP="false"™ ALIGNMENT="CENTER™:
<ACTION CONTROL LABEL="ActionControl.Label.¥es"
TYPE="SUBMIT"™ ACTION_ID="&gree"f>
<ACTION CONTROL LABEL="ActionControl.Label.No"
TYPE="SUBMIT™ ACTION_ID="disagree"f>
{fACTION_SET>
</ CLUSTER>
</ PLGE>
oo

<2?xml version="1.0" encoding="UTF-8"7>

<PAGE PAGE TD="DersonDemo agree"
mmlns:xsi="kttp: Awww. Wi, org/ 2001 /A XML S chema-1instance™
¥gi:noNamespaceichemalocation="file:  / Curam TIMSchema. xs5d">

<PAGE TITLE>
CCONNECT=
CFOURCE NAMNE="TEXT™ FPROFERTY="PageTitle.StaticText" />
</ CONNECT>
<HPAGE_TITLE>

<SERVER INTERFACE OPERATICN="checkAgreament" CLASS="MaintainPerson'
NAME="CheckAgreacmentBean™ PHASE="ACTION" />

CCLUTSTER TITLE="Cluster.Title.Agreement':
<ACTION 3ET TOP="f&lse" ALIGNMENT="CENTER">
SACTION CONTROL LABEL="ActionControl.Label.Yes"
TYPE="SUBMIT" LCTICN ID="agree"/:>
SACTION CONTROL LABEL="Actionlontrol.Label.No"
TYPE="SUBMIT" ACTICN ID="disagree"/>
</ ACTION ZET>
</ CLUSTER>

</ PAGE>
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CD.

<?xml wersion="1.0" encoding="UTF-8"2>

<PAGE PAGE ID="Personlemo agres"
xmilnsixwsi="hittp: Suvww. w3l opg/ 2001 AMLE chema—-ins tance™
xzirnolNamespaceSchemalocation="file:  / Curamn/TIMS chema. xad">

<PAGE TITLE>
CCONNECT=
<SOURCE NAME="TEXT" PROPERTY="PageTitle.StaticText™ >
</ CONNECT>
</PAGE TITLE>

<SERVER INTERFACE OPERATICN="checkAgreement" CLLSS="MzintainPerson"
NANE="CheckAgreementBean" PHASE="ACTION" ACTION_ID_PRDPERTY="Yes"f}
<3ERVER TWTERFACE QFERATION="checkAgreement" CLASS="MaintainPerson™
NAME="CkeckAgreamentBean" PHAZE="ACTION"™ ACTICH IL PROFPERTY="No'"/:

CCLUSTER TITLE="Cluster.Title.Agreement":
<ACTICN SET TOP="false" ALIGNMENT="CENTER">
<RCTICON CONTEOL LABEL="ActionControl.Label.¥es"
TYPE="SUBMIT" ACTION ID="agres"/>
<ACTION COMNTROL LABEL="ActionControl.Label.No"
TYPE="SUBMIT" ACTICN ID="diszgres" />
</ACTION SET=
</ CLUSTER>

</PLGE>

A. Exhibit A
B. Exhibit B
C. Exhibit C
D. Exhibit D

Correct Answer: B

QUESTION 6

If stereotyped methods were included in an entity class MyEntity, the implementation of these methods displays in which
Java class?

A. curam.impl.MyEntity
B. curam.base.MyEntity

C. curam.fact. MyEntity
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D. curam.intf. MyEntity

Correct Answer: B

QUESTION 7

Review the following diagram:

wsbucts
= Shucth

| Eg «defaults attributel : SAMPLE_INT

Eg gdefaults attibute? ; SAMPLE _IMT

= edefaults attibuted - SAMPLE_STRIMG
g ey alibule4  SAMPLE INT

|
- attributed 1

«azzignables
assignable2

- attributeq 1

szhucts
=1 StructB
| Eg =defaults attribute : SAMPLE_INT
Eg edefaults attnbute? ;: SAMPLE_IMT
g gdefaults attnbuted : SAMPLE_STRIMNG
=1 edefaults attibuted : SAMPLE_STRING
| B -a_defaultx— attributeb ; 5S4k P'LE_IHT_

After a build generated, which of the following assign methods is generated on StructA?

A. public StructA assign(StructB structB){ structA.attributel = structB.attributel; structA.attribute2 = structB.attribute2;
structA.attribute3 = structB.attribute3; structA.attribute4 = structB.attribute4; }

B. public StructA assign(StructB structB){ structA.attribute4 = structB.attribute5; }
C. public StructA assign(StructB structB){ structA.attributel = structB.attributel;
structA.attribute2 = structB.attribute2;

structA.attribute3 = structB.attribute3;

}

D. public StructA assign(StructB structB){ structA.attributel = structB.attributel; structA.attribute2 = structB.attribute2;
structA.attribute3 = structB.attribute3; structA.attribute4 = structB.attribute5; }

Correct Answer: D
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QUESTION 8

this be replaced with a set of radio buttons?

A. Ensure that the underlying Domain Definition on the model resolves to SHORT_CODETABLE_CODE.
B. Set the SHORT attribute on the FIELD to true.

C. Set the Radio Button option on the Domain Definition to true.

D. Set the Radio Button option on the corresponding struct to true.

Correct Answer: A

QUESTION 9

Review the following model:

aentibys
[_] EntityOne

| gy skeys attribut=] : SAMPLE_DOMAIN
== gdetalz: attnbutez : SAMPLE_DOMAIM

| Eg «scn:le_ta_ils:s— att_ri!:lL_ItEEZ S.ﬁ.MF'LE__DEIM.ﬁ.IH
{‘f% greads read [ ]

| 4, ereadmultiz readmuli [ ]

]

«extenqian»
extension

1

wERlEnsion:
&+ | FnlitplineF stenzinn

: {f{"} ankreadmultiz nkreadmuti [ ]_..

Based on the model shown above, which table(s) will exist following a build generated database?
A. EntityOne and EntityOneExtension

B. EntityOne only

C. EntityOneExtension only

D. The build will fail because extending an entity is not allowed

Correct Answer: B
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QUESTION 10

Which three of the following entity stereotypes require the user to specify input parameters when modeling? [Select 3]
A. nkread

B. nkmodify

C. nkreadmulti

D. nsinsert

E. nsremove

F. readmulti

Correct Answer: DEF
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